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» fopen()






fclose()
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AF 1 — st2ixt.c (1)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

#define NAME LENGTH 20
#define P _NO LENGTH 20
#define PHONE LENGTH 20
#define LINE LENGTH 80
#define LONG LINE LENGTH 256

O J oy U x W DN

=
O W

typedef struct {
char name [NAME LENGTH] ;
char p no[P NO LENGTH];
char phone[PHONE LENGTH];

15 } guest info t;
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AF 1 — st2ixt.c (2)

18 /******************************************************************************/

19 int get info by scanf(guest info t *info)

20 {

21 printf ("Guest name ? : ");

22 if (scanf ("%s", info->name) != 1)
23 return (0) ;

24

25 printf ("Persoanl number ? : ");
26 if (scanf("%s", info->p no) != 1)
27 return (0) ;

28

29 printf ("Phone number ? : ");

30 if (scanf ("%s", info->phone) != 1)
31 return (0) ;

32

33 return (1);

34 }
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At — st2ixt.c (3)

36 /******************************************************************************/

37 int get info by fgets(guest info t *info)

38 {

39 printf ("Guest name ? : ");

40 if (fgets(info->name, NAME LENGTH, stdin) == NULL)
41 return (0);

42

43 printf ("Persoanl number ? : ");

44 if (fgets(info->p no, P NO LENGTH, stdin) == NULL)
45 return (0);

46

47 printf ("Phone number ? : ");

48 if (fgets(info->phone, PHONE LENGTH, stdin) == NULL)
49 return (0);

50

51 info->name[strlen (info->name)] = '\0';

52 info->p no[strlen(info->p no)] = '\0';

53 info->phone[strlen(info->phone)] = '\0';

54

55 return (1);

56 }
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AF 1 — st2ixt.c (4)

/***‘k‘k***‘k‘k**‘k‘k‘k**‘k‘k‘k***‘k‘k***‘k‘k***‘k‘k**‘k‘k‘k**‘k‘k‘k***‘k‘k***‘k‘k***********************/

59 int main ()
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{

FILE *astream;

char *filename = "datafile";
int going = 1;
guest _info t record;

char answer [LINE LENGTH];
char buffer [LONG LINE LENGTH];

astream = fopen(filename, "at+");
if (astream) {

while (going) {
if (get_info by fgets(&record)) {

printf("save or not (yln) ? : ");
scanf ("%s", answer);
if (answer[0] == 'y' || answer[0] ==

sprintf (buffer, "%s %s %$s\n",
record.name,
fputs (buffer, astream);

printf ("quit or not (yln) 2 : ");

scanf ("%s", answer);

if (answer[0] == 'y' || answer[0] == ‘Y') {
going = 0;

}

fclose (astream) ;

else {
perror ("fopen") ;
exit (1) ;

vy |

record.p no,

record.phone) ;
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int main ()

{

Ak — txt2st.c

/******************************************************************************/

FILE *stream;

char *filename = "datafile";

guest info t record;
char buffer[LONG LINE LENGTH];

stream

fopen (filename,

if (stream) {

else {

while (fgets(buffer,

"r") ;

printf ("Guest name

}

fclose (stream) ;

perror ("fopen") ;

exit (1) ;

record.name,

LONG LINE LENGTH,

sscanf (buffer, "%s %s %s",

stream)) {

record.name, record.p no,

%$s\tPersonal No: %$s\tPhone No:

record.p no,

record.phone) ;

record.phone) ;

%$s\n",



fseek()
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rewind()
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ferror()
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